



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	G Abhigna	Class	VI - D
Father Name	Jayaprakash	Roll #	1
Address	Subhash Nagar		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 120.0/120.0	Overall Percentage - 100.00%	Grade - A1	Grade Point - 10.0
--------------------------	------------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	M Akshara	Class	VI - D
Father Name	Srinivas	Roll #	2
Address	Subhash Nagar		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 120.0/120.0	Overall Percentage - 100.00%	Grade - A1	Grade Point - 10.0
--------------------------	------------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	P Chaitra	Class	VI - D
Father Name	Hanmandlu	Roll #	3
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	4.0	5.0	5.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0

Total Mark - 115.0/120.0	Overall Percentage - 95.83%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	B Charanya Sri	Class	VI - D
Father Name	Srinivas	Roll #	4
Address	Shiva Thanda		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 120.0/120.0	Overall Percentage - 100.00%	Grade - A1	Grade Point - 10.0
--------------------------	------------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	N Greeshma	Class	VI - D
Father Name	Gangadhar	Roll #	4
Address	Borgaon		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	2.0	3.0	3.0	5.0	13.0	65.0%	B1	8.0
HINDI	20.0	5.0	5.0	5.0	6.0	21.0	105.0%	A1	10.0
ENGLISH	20.0	4.0	5.0	4.0	4.0	17.0	85.0%	A2	9.0
MATHEMATICS	20.0	4.0	5.0	5.0	3.0	17.0	85.0%	A2	9.0
GENERAL SCIENCE	20.0	2.0	3.0	3.0	3.0	11.0	55.0%	B1	8.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	3.0	17.0	85.0%	A2	9.0

Total Mark - 96.0/120.0	Overall Percentage - 80.00%	Grade - B1	Grade Point - 8.0
-------------------------	-----------------------------	------------	-------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	M Geethika	Class	VI - D
Father Name	Jagadhiswar	Roll #	5
Address	Mahantham		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 117.0/120.0	Overall Percentage - 97.50%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	Y Haripriya	Class	VI - D
Father Name	Kishan	Roll #	6
Address	Fakirabad		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 120.0/120.0	Overall Percentage - 100.00%	Grade - A1	Grade Point - 10.0
--------------------------	------------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	P Harsha Sri	Class	VI - D
Father Name	Santosh Kumar	Roll #	7
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	6.0	21.0	105.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 121.0/120.0	Overall Percentage - 100.83%	Grade - A1	Grade Point - 10.0
--------------------------	------------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	M Harshini	Class	VI - D
Father Name	Ramesh	Roll #	8
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 118.0/120.0	Overall Percentage - 98.33%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	K Harshitha	Class	VI - D
Father Name	Subba Reddy	Roll #	9
Address	Kamalapur		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	4.0	5.0	4.0	17.0	85.0%	A2	9.0
HINDI	20.0	5.0	5.0	3.0	5.0	18.0	90.0%	A2	9.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 109.0/120.0	Overall Percentage - 90.83%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	G Mallika	Class	VI - D
Father Name	Srinivasulu	Roll #	10
Address	Malkapur		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 117.0/120.0	Overall Percentage - 97.50%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	E Manaswee	Class	VI - D
Father Name	Srinivas	Roll #	11
Address	Binola		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	6.0	21.0	105.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 117.0/120.0	Overall Percentage - 97.50%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	J Manogna	Class	VI - D
Father Name	Srinivas	Roll #	12
Address	Borgaon		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 119.0/120.0	Overall Percentage - 99.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	R Manogna	Class	VI - D
Father Name	Naresh	Roll #	13
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	4.0	5.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 114.0/120.0	Overall Percentage - 95.00%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	D Niveditha	Class	VI - D
Father Name	Naveen Kumar	Roll #	14
Address	Subhash Nagar		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0

Total Mark - 114.0/120.0	Overall Percentage - 95.00%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	K Sai Sahasra	Class	VI - D
Father Name	Madhukaran	Roll #	15
Address	Veeranna Gutta		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	6.0	5.0	21.0	105.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 119.0/120.0	Overall Percentage - 99.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	M Shreekruthi	Class	VI - D
Father Name	Hanmandlu	Roll #	16
Address	Subhash Nagar		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 120.0/120.0	Overall Percentage - 100.00%	Grade - A1	Grade Point - 10.0
--------------------------	------------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	D Srihitha	Class	VI - D
Father Name	Vinod	Roll #	17
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	4.0	5.0	5.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 118.0/120.0	Overall Percentage - 98.33%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	A Srivarsha	Class	VI - D
Father Name	Nandu Kumar	Roll #	18
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 119.0/120.0	Overall Percentage - 99.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	MD Arhan	Class	VI - D
Father Name	Rafeequddin	Roll #	19
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 118.0/120.0	Overall Percentage - 98.33%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	A Aryan	Class	VI - D
Father Name	Manohar	Roll #	20
Address	Laxmapur		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	4.0	5.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	4.0	5.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	4.0	5.0	5.0	19.0	95.0%	A1	10.0

Total Mark - 113.0/120.0	Overall Percentage - 94.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	M Ashish Kumar	Class	VI - D
Father Name	Kiran Kumar	Roll #	21
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 119.0/120.0	Overall Percentage - 99.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	K Harshith	Class	VI - D
Father Name	K Narayana	Roll #	23
Address	NA		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 119.0/120.0	Overall Percentage - 99.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	D Krishna Teja	Class	VI - D
Father Name	Vinod	Roll #	24
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	4.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 113.0/120.0	Overall Percentage - 94.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	L Nambi	Class	VI - D
Father Name	Nagesh	Roll #	25
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 119.0/120.0	Overall Percentage - 99.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	M Nishkranth	Class	VI - D
Father Name	Srinivas	Roll #	26
Address	Binola		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 114.0/120.0	Overall Percentage - 95.00%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	CH Nithish	Class	VI - D
Father Name	Gangadhar	Roll #	27
Address	Sirampally		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 118.0/120.0	Overall Percentage - 98.33%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	K Rahul	Class	VI - D
Father Name	Ramakrishna	Roll #	28
Address	Yamcha		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 119.0/120.0	Overall Percentage - 99.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	E Revanth	Class	VI - D
Father Name	Sailu	Roll #	29
Address	Rampur		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	4.0	5.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 115.0/120.0	Overall Percentage - 95.83%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	B Rishik	Class	VI - D
Father Name	Ravi Kumar	Roll #	30
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0

Total Mark - 118.0/120.0	Overall Percentage - 98.33%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	U Ruthwik	Class	VI - D
Father Name	Srinivas	Roll #	31
Address	Nagepur		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	4.0	5.0	4.0	17.0	85.0%	A2	9.0
HINDI	20.0	5.0	4.0	4.0	4.0	17.0	85.0%	A2	9.0
ENGLISH	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	4.0	17.0	85.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	3.0	18.0	90.0%	A2	9.0

Total Mark - 106.0/120.0	Overall Percentage - 88.33%	Grade - A2	Grade Point - 9.0
--------------------------	-----------------------------	------------	-------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	M Sanath Goud	Class	VI - D
Father Name	Anand Goud	Roll #	32
Address	Rampur		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 120.0/120.0	Overall Percentage - 100.00%	Grade - A1	Grade Point - 10.0
--------------------------	------------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	R Sai Teja	Class	VI - D
Father Name	Anjaiah	Roll #	33
Address	Abhangapatnam		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 119.0/120.0	Overall Percentage - 99.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	S Sathwik	Class	VI - D
Father Name	Kishan	Roll #	34
Address	Ananthagiri		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 118.0/120.0	Overall Percentage - 98.33%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	V Sathwik Kumar	Class	VI - D
Father Name	Raju	Roll #	35
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	4.0	5.0	4.0	18.0	90.0%	A2	9.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 114.0/120.0	Overall Percentage - 95.00%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	V Sricharan	Class	VI - D
Father Name	Naveen Kumar	Roll #	36
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 116.0/120.0	Overall Percentage - 96.67%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	M Sriram	Class	VI - D
Father Name	Narsaiah	Roll #	37
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	3.0	4.0	5.0	4.0	16.0	80.0%	A2	9.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0

Total Mark - 111.0/120.0	Overall Percentage - 92.50%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	A Sharvanandh Goud	Class	VI - D
Father Name	Narendhar Goud	Roll #	38
Address	Pothangal		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	4.0	19.0	95.0%	A1	10.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	3.0	5.0	5.0	5.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 114.0/120.0	Overall Percentage - 95.00%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	K Suhas	Class	VI - D
Father Name	Ravikanth	Roll #	39
Address	Fakirabad		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 120.0/120.0	Overall Percentage - 100.00%	Grade - A1	Grade Point - 10.0
--------------------------	------------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	D Tejith	Class	VI - D
Father Name	Sainath	Roll #	40
Address	Nandigaon		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	4.0	5.0	19.0	95.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	4.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 116.0/120.0	Overall Percentage - 96.67%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	E Vara Prasad	Class	VI - D
Father Name	Chinna	Roll #	41
Address	Dharmaram		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
SOCIAL STUDIES	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0

Total Mark - 117.0/120.0	Overall Percentage - 97.50%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	D Vedhanth	Class	VI - D
Father Name	Srinivas	Roll #	42
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
HINDI	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
GENERAL SCIENCE	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0

Total Mark - 119.0/120.0	Overall Percentage - 99.17%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0



# LITTLE FLOWER HIGH SCHOOL

(Recognised by Govt. of T.S.)

NAVIPET, NIZAMABAD - 503 245.

## Report Card - FA4

### A) School Information

U-DISE Code	36050102312	School Type	HIGHER	School Name	LITTLE FLOWER HIGH SCHOOL
Village Name	Navipet	Mandal Name	Navipet	District Name	Nizamabad

### B) Student Information

Student Name	CH Vishweshwar	Class	VI - D
Father Name	Ramesh	Roll #	43
Address	Navipet		

### C) Child's Performance

Subject	Total Marks	Slip test / 20.0	Written work / 10.0	Project work / 10.0	Children partic.. / 10.0	Secured Marks	Percentage	Grade	Grade Point
TELUGU	20.0	4.0	4.0	5.0	4.0	17.0	85.0%	A2	9.0
HINDI	20.0	5.0	4.0	3.0	5.0	17.0	85.0%	A2	9.0
ENGLISH	20.0	5.0	5.0	5.0	5.0	20.0	100.0%	A1	10.0
MATHEMATICS	20.0	4.0	5.0	5.0	5.0	19.0	95.0%	A1	10.0
GENERAL SCIENCE	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0
SOCIAL STUDIES	20.0	4.0	5.0	5.0	4.0	18.0	90.0%	A2	9.0

Total Mark - 109.0/120.0	Overall Percentage - 90.83%	Grade - A1	Grade Point - 10.0
--------------------------	-----------------------------	------------	--------------------

### Attendance

Month	Dec	Jan	Feb	Total
Present				
Working Days				

### Teacher Feedback :

---



---

Teacher Signature

Principal Signature

Parent Signature

FA 20 = A1 : >= 18.5, A2 : >= 14.5, B1 : >= 10.5, B2 : >= 7.5, C : >= 0.0
FA 10 = A1 : >= 9.5, A2 : >= 7.5, B1 : >= 5.5, B2 : >= 4.5, C : >= 0.0
FA 120 = A1 : >= 108.5, A2 : >= 96.5, B1 : >= 84.5, B2 : >= 72.5, C1 : >= 60.5, C2 : >= 48.5, D : 0.0